
1) Simplify 3:9

Answer: ____________

2) Solve 9s2 - 20s + 9 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

3) Simplify 3:10

Answer: ____________

4) Simplify 13:8

Answer: ____________

5) Solve 10s2 + 4s - 11 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

6) Round 3.83837 to the nearest whole 
number.

Answer: ____________

7) Round 7.47266 to the nearest whole 
number.

Answer: ____________

8) Convert the following improper 
fraction 13/9 + 53/4 into a mixed 
number

Answer: ____________

9) Round 30.83149863 to the nearest 
whole number.

Answer: ____________

10) Convert the following improper 
fraction 12/5 + 26/7 into a mixed 
number

Answer: ____________

Total: ___ / 10
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Answers:

1) 1 : 3 2) s = 1.6 or 0.6 3) 3 : 10 4) 13 : 8 5) s = 0.9 or -1.3 6) 4 7) 7

8) 71/12 9) 31 10) 49/35
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